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SET-4
Series JMS/C w3 .
Code No. 31(8)
Tt .
Roll No. ?%ﬂﬁg@ﬁ TR F G

Candidates must write the Code on the
title page of the answer-book.
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e Please check that this question paper contains 15 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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SCIENCE
(FOR BLIND CANDIDATES ONLY)
eifa aas : 3 o2 3TeIHaH 37 : 80
Time allowed : 3 hours Maximum Marks : 80

DAW® oaded From : http://cbsepdrtal.con Courtesy :P-CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.com

HTHT=T 3397 :

(i) 39 ¥979-97 & Giel YFT — 37, §, G, T 3N T H &icT 77 B | 379H a4t
YT & ¥l & IR forgd &

(i) @4 o7 SAfHarE & |

(iii) 9T &, & 73N T & Fo 7 ke =37 1397 T 8 |
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(vi) YT & & ¥97 G&IT 6 G 15 FIA-AIT JH & I97 & | 39 I FTHT
50 5 H 37 8 |

(vii) 9FT T & 397 &7 16 @ 21 Gia-9i<l 371 & 97 & | 579 I TTHT
70 55T § 37 & 1

(viii) YT T & 97 T&IT 22 T 27 JIITIcHE HIvIcT W STERT 1-3T 37h1 3
97 & | 579 Gl 3w a7 & |

General Instructions :

(i)  The question paper comprises five Sections —A, B, C, D and E. You
are to attempt all the sections.

(it) All questions are compulsory.
(itt) Internal choice is given in Sections B, C, D and E.

(iv) Question numbers 1 and 2 in Section A are one mark questions.
They are to be answered in one word or in one sentence.

(v)  Question numbers 3 to 5 in Section B are two marks questions.
These are to be answered in about 30 words each.

(vi) Question numbers 6 to 15 in Section C are three marks questions.
These are to be answered in about 50 words each.

(vii) Question numbers 16 to 21 in Section D are five marks questions.
These are to be answered in about 70 words each.

(viii) Question numbers 22 to 27 in Section E are based on practical
skills. Each question is of two marks question. These are to be
answered in brief.
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SECTION A
1. YIU hl W §9¢ W@ & U YT S 91 & SRON <hl
el SF1ET | 1

List two steps that should be taken for the maintenance of
healthy environment.

2. TEREd SER S@a1 § JT6ll i 39y Holl I A 10 J 7 : 1
e —— 98— 94— I

<8l # ferat St Iufedra @ gt 2

In the following food chain, 10 J of energy is available to
hawks :

Plants —— Rats —— Snakes —— Hawks

How much energy would have been present in the rats ?

qd
SECTION B

3. 3muued (foanem) arfufshanett o stftrertient ot foafed o & fou o
ol oYl el g % w9 # Sl o ATevEeRar gt @ | UE
geh foiio 11Tk o foru vemafaes aHier fafae fSaw et &
YA (1) FEAT R (i) To[q o €9 | hT 97l 7 | 2

Decomposition reactions require energy either in the form of
heat or light or electricity for breaking down the reactants.
Write one equation each for decomposition reactions where
energy is supplied in the form of (i) heat and (ii) electricity.

4. 2 kW WIfh-31Aameh arent forell fopq Wl o1 J=mer fopet wie aiae
(220 V), fSr&ert g 1A 5 A ], ® foham mam 7 | o1 fepa wftomm
Sl 3TUETT LA & ? AT IR I gise HIMT | 2

An electric oven of 2 kW power rating is operated in a domestic
circuit (220 V) that has a current rating of 5 A. What result do
you expect ? Justify your answer.
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5.

qa E ol U i i =R T i It S8 |
HAAAT

Jiisyshia fweret & A1fiehi Sl 39 i o U 3w i IA arelt
b rfstfshan =1 9 feAflgu | 31 fuded # S99 & &9 | 3w
fpu I Tt a@ @1 AW fofge | et oAt i gorn § AR
A1 ST L oh §F T&I ATHI <l T FA1ET |

List four limitations of obtaining energy from winds.

OR
Name the nuclear reaction by which nuclear energy is
generated in a nuclear reactor. Write the name of the element
used as a fuel in these reactors. List two main advantages of
using nuclear energy in place of fossil fuels.
o
SECTION C

frefeiiaa s 1fufshan o fou dqfora Tame aefiehtor faRan qe

Tcdeh ThUUT § STNTShAT o TR sl T8ETHT |

() ifeam gEgigass fooma 6 wdAiss v o SAfufskan gmr
ifeam TATTe R S §47 |

(i) 9 § TIAA o C&T GNI HIe- SEATFEES d A ST al
ST q<h BT |

Write the balanced chemical equations for the following

reactions and identify the type of reaction in each case :

(i) Sodium hydroxide solution is treated with ethanoic acid
to form sodium ethanoate and water.

(i1) Ethanol is burnt in air to form carbon dioxide and water
and releases heat.

BTSSRI foh8 hgd & ? ST ST STy forfau |

JrerE
e Afirent i TESAE Jof 7R HEd & ? 39 o T&I AT
fafau | R < gu Ffafea wea A § g9 guedE s s
31 ANfirep! =1 == HIRT

CgHg, C4Hs, C3Hy, CoHg, CoHy, CoHg
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What is hydrogenation ? Write its industrial application.

OR
What is a homologous series of carbon compounds ? Write its
two main characteristics. Stating reason, select two compounds
from the following which belong to the same homologous
series :

CgHg, C4Hs, C3Hy, CoHg, CoHy, CoHy
8. I3 atd X MY Tad AR o Y4 14 R AR 37ad 7 8 |

(i) d@ X * sl fa=me fafge et gadht gastshar faifa
HITNT |

(i) 39 a1 W fafaw |

(iii) g T °Tg, AU T 94T H & F1 7 ?

An element X belongs to group 14 and 3 period of the modern

periodic table.

(i)  Write the electronic configuration of X and determine its

valency.
(11) Name the element.

(i1i) Is it a metal, a non-metal or a metalloid ?

9. difdshl o ®9 H TNl Wwer IR fowqast wiwer & d= dH1
faseeRt e <hi =t SR |

AYAT

fefafga & s dfe .

(i) AEgR ¥ EH STt 3T Yo 3ufedd &d 8 |

(i)  vaTEelt H IuTfEy % I IUfEd T&d § |

(i) e Sfal o vaua g€ wel Sital 6 qorn | sifeuss g g
g |

3
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10.

11.

12.

13.

List in tabular form three distinguishing features between

autotrophic nutrition and heterotrophic nutrition.

OR
Give reason why :
(i)  Fine hair and mucus are present in the nasal passage.

(i1) Rings of cartilage are present in the trachea.
(iii) The rate of breathing in aquatic organisms is much faster
than seen in terrestrial organisms.

redtcesi fohl hEd § ? UTedl H I8 Hewqul @@ 8 ?

Define transpiration. Why is it important for plants ?

Sareg @ g 2 oy ge9y waifud e § Siamedl & "gw
ST T |

What are fossils ? Explain the importance of fossils in deciding
evolutionary relationship.

AAUSA H TehST I YA Tohd YR BIAT & ? AU Afgd TR

SHifore fop vt ar 3tferes =mehiel TR el goat 1 Idfid 8 & |

How does refraction of light take place in the atmosphere ?
Explain the reason why the stars sometimes appear brighter
and sometimes dim.

fopeft afetemt w1 1ot gfee < weme & foiw — 4-5 D wiftk < id
ST Bl 2 |

(i) 3 T o1 W TARGT 3TR $9eh I HRUN hl AT ST |

(i) HNEh T hl BihH gh 3TN IFehH! THld F1 3 ?

A girl needs a lens of power — 4:5 D for the correction of her

vision.
(1) Name the defect of vision and list its two causes.

(i1) What is the focal length and nature of the corrective lens ?

DAW® oaded From : http://cbsepbrtal.com Courtesy :

CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.com
14. ToRIq-grechia SROT <t aRwTeT foifaw | 918 g1 o6 fote, fepsft ST @t

Fuia HifSre foh & foreft s=g arer & ToRA a1t STy ek & §

31T gig Bt 7, 1 39 9T ° foRq 9/ vatted g ot § | 3
areran

forgrq wftwert wa faga @nfest & 3w fope oI arer @ gRen IURi %

T fafew | foagq agueE wa g g R 3EH S=rE k| R S

Hehdl 2 2 989 U 3o shifaY | 3

Define electromagnetic induction. Describe an experiment to
show that a current is set up in a closed loop when an external

magnetic field passing through the loop increases or decreases.

OR

Name two safety measures used in electric circuits and
appliances. When does an electric short circuit occur and how

can it be prevented ? State briefly.

15. “G9 Us HE@qul T@Ed 7 |7 39 heH hl gfee o ford adi i 9R
HEeaqUl faeiyarat i = SH1EY | /e % 39 &1 SRAThadl 1 3o
HIfT St 541 1 &fd 9g=d # | 3

“Forest is an important resource.” List four significant features

of forest to justify this statement. Write two activities caused

by man which damage forests.
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SECTION D

16. 3 3TFdAl R AW h ygaE hifve e Fefafaa @9 s9 2 qon
Teh Y01 H U] <hl Jehld — STl & 7T IGHH, I Ieaid
HIfT

17.

(1)
(ii)
(iii)
(iv)
v)

qifeaw FANES

IR Tethe

hicaaq gL
qrefIrm e

gifeaq gRgISH HEHe

Identify the acids and bases which form the following salts and

state whether these salts are acidic, basic or neutral :

(1)
(i1)
(111)
(iv)
v)

(a)

(b)

Sodium chloride

Copper sulphate
Calcium nitrate
Potassium nitrate

Sodium hydrogen carbonate

gIq3Tl hl wlshaar &uft w1 g ? Urgan hl wiseaar Foft fafiem
gTqell hl e AlhIATsTi I ATAH TH H fohd TR
g Bl 2 ?

forelt 1o 1 afgent 1 S § W B Aothe Toorad T Galo
@1 T | ure Tl % v 9 9 TR foh foere s e
3g T} qn TSk i ufgem # wga @ fog @1 e E | 3@ Jww
% HRU TARIT 3R 36 T § BH JTell AHTRAT 1 T8
e 1T |

HAYAT
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HI3 AT T FEGEAINh A § IT@Td fohy W W 1 Jagarae

39 AT 3 AR P TIEH AR T T\ Fhardt 3 | 39 3EH h
TehT i TEATHT | 8 TehR b 3TAEh © 9T i (ShNd i § ITAM
o AR S aTel gt ihATeTl T T H Ieci@ hifv | 5

(a) What is a reactivity series of metals ? How does the

reactivity series of metals help in predicting the relative

activities of various metals ?

(b) A zinc plate was kept in a beaker having copper sulphate
solution. After five days it was found that blue colour of
the solution disappears and there are number of holes in
the zinc plate. State the reason for this observation and
give chemical equation for the reaction involved.

OR

An ore, on treatment with dilute hydrochloric acid gives brisk
effervescence to produce a colourless and odourless gas.
Identify the type of ore. State in brief the metallurgical
processes that are applied on this type of ore to extract the
metal.

18. (a) THH FTEAE ?
(b) Tr=fafea ufsmn gro arfaa gEHT & 9™ 3R T 1 Th-Ush
Hrt fafee -
i) dHw
(i) 3TeE (UTSSS)
(111) IR
(c) ®R # UfgTeid &fod g4 % 999 AHE IRR fohd TR

STfRAT AT B ? 5

HAYAT

DAW® oaded From : http://cbsepdrtal.con Courtesy :P-CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.com _ ‘
faf¥yr YR & UTgq g s T FARY | T FHMET 1 9G4l I Jhg

IR foepm W b (IR TvTe fafeay |

19.

20.

(a)
(b)

(c)

What are hormones ?

Write the names of hormones secreted by the following
glands and write one function of each :

(i) Pituitary
(ii) Thyroid
(i11) Pancreas

How does the human body respond when adrenalin is
secreted into the blood ?

OR

List different types of plant hormones. Write the physiological
effects of these hormones on plant growth and development.

SHREL FT BT 2 ? 38 ot 9t o 9m 3R e fofge | foreht
gt 91GY I AT [T 2 ST i3 LR (Rl IUYh afdehyl T qgedl
2 2989 T Iooig hifou |

What is pistil (carpel) ? Write the names and functions of its

various parts. What happens in a flowering plant after the
pollen lands on a suitable stigma ? State briefly.

(a)

(b)

TehTST o 3Tadd <hl IRt foiRgu | forelt |eam <1 ST9edTes
TehTeT <hl =T § fopg Yoh Hafera @ 2 Torell |ream o gruer fore
A I o AU b [T, 3 ST HIETH § JehT3l hl =T

% U3l H, Ik (i |

A ok HUY SHHUE hl YAk 1-8 & AT Il okl U
AYIATR 1-33 8 | SHHTES k1 AR08 319erd-ies F1d hifviw |

AT
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(a) 3@ QU gRT S Il Sidfersi o 9R fafvrse @gon i g

S9TSY STfeh forra @dur o 9re sl 9T off foorg 2

(b) 10cmqﬁw®és3aaaq‘mésqmﬁ20cmaﬁeg’rwﬁé
fora feord & | U g3 1 ITAN b o Tl Tt <hl
feufa s whfa sma i | 5

(a) Define refraction of light. How is refractive index of a
medium related to speed of light ? Write an expression
for the refractive index of a medium with respect to
another medium in terms of speed of light in these two
media.

(b) Refractive index of diamond with respect to water is 1-8
and absolute refractive index of water is 1-33. Find the
absolute refractive index of diamond.

OR

(a) List four characteristic features of the images formed by
convex mirrors when objects are placed anywhere in
front of them.

(b) An object is placed at a distance of 20 cm in front of a
convex mirror of focal length 10 cm. Use mirror formula
to find the position and nature of the image formed.

21. (a) forqq g i gfymn iR gt SI e fafaw | 39 frm =1
g IR fm ot fofae it fopelt ot @ wetfga forgq e ik
3ueh i W favar=m & e g9y i o g |

(b) URME ¢ % T wdww ghkigs (a) JvfishH, (b) Uwds®A A
gAIfa 8 | afg Sofishn 3R Uvdshy O HAId §h qod Uiy
AT Ry 3N R, 8, @1 31U R,/ R 7@ HINT | 5

(a) Define electric current. Give its SI unit. Name and state

the law which relates the electric current flowing through
a conductor to the potential difference across it.
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22.

23.

(b) Two identical resistors of resistance ‘' are joined in
(a) series, (b) parallel. If the equivalent resistance of
series and parallel combinations are Ry and R,
respectively, find the ratio R;, / Rq.

R IRIO]
SECTION E

Ak U TIEH Tdid B aTcll i Tl 8 foHH i TTEE
59 — T, BISSIAleh 3T 1 O faereH am Hifsad qRgiadss W
2 | 39 I AT fIeHE 937 997 318 WfSa e IeH hiaie Wi 2 |
Y I8 AYfse form TR 4T fh 370 & & 41 (1) ETEgIaaliieh 3
T (i) Tfsam grEglieaTse & oo 2 2

You have three identically looking test tubes containing
colourless liquids — water, dilute solution of hydrochloric acid
and sodium hydroxide. You also have red litmus paper and
solid sodium hydrogen carbonate. How would you confirm
which among these is a solution of (i) hydrochloric acid and
(i1) sodium hydroxide ?

frelt T 0w Tt H s geid A AR 3IEH T 9 gl
wHifesh v foamn man | srfufshan | e Sstfedse FHehet fSeM
S g3 Awad! g9 fean | ugred A 1 AW ffea | wEifes s
$ g fafgy | = Bra1 ® 99 A foeng 93 1 uHifes o o

ECIRIRS G

AYAT

I« TR Sl § W dTe o9 3T Tohe o [aoddd H hidY, AR,
e TR Ugf=m i afgepredi &l EaId @ a T T o2 o U9aTq
A0 HTA I AT U1 ATl B 2
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In an experiment, substance A was taken in a test tube and
acetic acid was added through a funnel. Carbon dioxide was
evolved in the reaction which extinguished a burning candle.
Name the substance A. Write the odour of acetic acid. What

happens when blue litmus paper is dipped into acetic acid ?

OR
What is observed after about one hour of placing the strips of
copper, iron, zinc and aluminium in freshly prepared solution

of iron sulphate taken in four beakers ?

24, g B GYH YEUGEN hi I Wk § Tl o TedeTeh o STEATRAT IO
T Y&T0T R TET & | I o ITETq, 98 AT AR Ae-ge § S Q@
Jeguni ol forem 3eht =it TATET | 2

AT

foret B o TomT % WS o ToREl YOT o WRN I ggaH HfaIRed
AR I | 39 QI AT I R0 od gC MY = 38 =1 1§ Tt |
Tfrufad fomm w2 | 2
i) 5w

(i) fiemar (s =)

(iii) L

(iv) 3Td:had

(v) SINUggR

(vi) eI

List two observations which a student would note down in his

practical file after observing a temporary mount of a leaf peel
under the high power of a compound microscope.

OR
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A student identified the following as the parts of an embryo of

a red kidney bean seed. Select any two parts which have been

25.

26.

wrongly included in the list stating the reason in each case.

(1)
(ii)
(iii)
(iv)
(v)

(vi)

Cotyledon
Testa
Plumule
Tegmen

Micropyle
Radicle

forelt B 1 geAce gRI T TSE 1 WU S h q9Eld I8 (ot
o & T TaEe Twwitve Sia | fggued i ufshar il el & 1 A
g Jegun S R S1ST ek YR W 3T B 4 I8 fsed e

B |

A student after examining a slide under microscope reported

that the slide shows the process of binary fission in a

unicellular organism. List two observations on the basis of

which the student has drawn this conclusion.

YA 10T o oA fafy wei o o fopelt i o fsw @ 9@ are
JerT3l TortoT T 99 3TRREd S 1 T ohid A, 399 YROmH e

i o oAU, SRt S aTelt IR TawTeh Aagr-=i i gt sy, | 2

AT

78 Ieoig i for i B fREft fu o stemw qdwr i |feee
wiehd gfl, forel gy for o1 gldfers g W g ek T8 TR
i =6tar 2 | 2
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27.

List four precautions which are necessary for getting better
result while performing experiment for tracing the path of a
ray of light through a glass prism for three different values of
angle of incidence.

OR

State how a student determines the approximate focal length
of a given concave mirror by obtaining the image of a distant
object on a screen.

forelt afcioss & 90 @ I8 dieeHier &1 9fER (0 — 15 V) 7 |
FleeHie o 99 W 0 3 0-5 = &g & = 20 ST 977 & | =
A GHI I 91T T R AieeHiet 1 Hehdesh 1-0 & Ug & AW 124
MR W B | dleeHIet &1 (1) Tcqaqres q9T (i) Ifatess & i w
favarr 3@ SIS |

The range of a voltmeter connected across a resistor is
(0 — 1-5 V). There are 20 equal divisions between 0 and 0-5
mark. During the experiment it is found that the voltmeter’s

pointer is at 12th graduation after 1-0 mark. Find (i) the least
count of the voltmeter and (ii) the potential difference across
the resistor.
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